
1

PANIC EXIT BREAKOUT SYSTEM 
KBRAM and KBRINT
for mobile and partly fixed leaf
for Label LB50 and commercial profiles

R.2.0

ISTR. ANTIPANICO KBRAM-KBRINT - REL.2.0 - GB - 03/2012 - CD0396R2

EVOLUS
EVOLUS-T



2

TP
C 

3.
5X

13
 (

x4
)

TB
EI

 M
6X

8 
(x

6)

TC
C 

3.
9X

9.
5 

(x
3)

TC
C 

4.
8X

13
 (

x2
)

TP
C 

4.
8x

22
 (

x2
)

TB
C 

4.
8x

22
 (

x1
3)

C
om

po
n

en
ts



3

D
im

en
si

on
s,

 
H

ei
gh

ts
 

an
d 

dr
ill

in
g 

po
si

ti
on

s

Br
ea

ko
ut

 
di

re
ct

io
n

Br
ea

ko
ut

 
di

re
ct

io
n

Sc
re

w
 T

CC
 

4.
8X

13
 (

2)

Sc
re

w
 T

BE
I 

M
6X

8 
(3

+
3)

 
H

ol
es

 Ø
6

Sc
re

w
TC

C 
3.

9X
9.

5 
(3

) 
H

ol
es

 Ø
4

Al
l d

im
en

si
on

s 
ar

e 
in

 m
ill

im
et

re
s.

Th
e 

le
af

 p
ro

fil
es

 in
 t

hi
s 

do
cu

m
en

t 
ar

e 
ju

st
 

ill
us

tr
at

iv
e.

To
 u

se
 o

th
er

 t
yp

es
 o

f 
pr

ofi
le

, k
ee

p 
in

to
 

ac
co

un
t 

m
ai

nl
y 

th
e 

m
in

im
um

 a
nd

 m
ax

im
um

 
di

m
en

si
on

s 
an

d 
th

e 
dr

ill
in

g 
po

si
tio

ns
 (

al
l 

di
m

en
si

on
s 

in
 b

ol
d)

.



4

Breakout direction

Place the L-shaped closure profile 
(K) on the top traverse of the leaf 
(H), paying attention to breakout 
direction (see figure)

IMPORTANT !!
In case of integral breakout, cut 
15 mm along the L-shaped profile 
short part, as shown on figure.
This procedure will allow the 
leaf to rotate freely. The above-
mentioned cut will be hidden by 
overlapping.

3

2

1

TBEI M6X8 (x3)

Exag. 4

TBEI M6X8 (x3)

Exag. 4

E

K

H

A

A

Align the holes on the upright 
with the fastening holes on 
the pivots and fasten them by 
means of the 6 TBEI screws 
M6X8.

Insert the hinge complete with pivots (F) 
in the leaf upright (E).

F

E

F

D

Assembly of the panic exit system



5

4

5

TPC 4.5X13

D

BA

D

Fasten the L-shaped closure profile (K) by means 
of the screws TPC 4.8X22 inside the 2 countersunk 
bores, next to hinge pole (D) as indicated on 
drawing. Fasten the rest of the profile  using the 
screws TBC 4.8X22

Warning !!
Smooth rotation of the anti-panic hinge is only 
assured by using the 2 screws TPC 4.8X22.

The rest of the screws are TBC 4.8X22

Insert the upper section of the hinge (B) into the 
pole. Upon insertion, make sure that the pole 
is allowed to rotate 95° around its centre both 
clockwise and counter-clockwise (see figure).
Align the hole on the pole (D) with the hole on 
the hinge and insert the pin (A).



6

6

7

B

B
Exag. 6

Exag. 6

IMPORTANT !!

In case of breakout with 
external operator (mobile 
leaves only) cut 10 mm 
along the aluminium short 
part (I), as indicated on 
drawing.
This procedure will allow 
the leaf to rotate freely. 
The above-mentioned 
cut will be hidden by 
overlapping.

I
I

I

Breakout 
direction

G

H

G

Fasten the lock striker (G) by means of the screws TBC 
4,8X25 on the top traverse (H) of the leaf.
Position as near as possible to the end of the leaf and 
centred with relation to the width of the profile and with 
the closed part of the “U” in the breakout direction.

GEIPC M12X35 (X2)

BF

B

GEIPC M12X35 (X2)
GEIPC M12X35 (X2)

Insert the aluminium profile (I) in the 
top hinge (B) and temporarily tighten 
the dowels GEIPC M12X35

TBC 4.8X25 (x2)



7

8

9

I

I

I

I

I

L

L

X2

X2

GEIPC M12X20

Exag. 6

Exag. 4

GEIPP M8X40 (x2)
M

M

M

GEIPP M8X40 (x2)

G

G

M

Insert the plate with dowel (L) in the 
aluminium profile (I) until the dowel on the 
plate corresponds with the seat X2 on the 
hinge. Temporarily tighten the dowel GPEIC 
M12X20.

Insert the ball block (M) in the aluminium 
profile (I) until, with leaf closed, it 
corresponds with the position of the lock 
striker (G) previously fastened to the upper 
traverse.
Tighten the 2 dowels GEIPP M8X40 to 
fasten it in correct position.



8

10

I

Before closing at its two ends the aluminium 
profile (I), insert from both sides 2 plates (R) 
in the slot (X3). Their purpose is to connect 
the brackets of the carriages located on the 
automation. Once they have been inserted, 
close with the rubber caps (S) both sides of 
the aluminium profiles.

TPC 3.5X13

TPC 3.5X13

S

R

I

S

R
X3



9

1413

1211 Thread the runner liner (N) in the 
lower section of the upright (E).

! To avoid pin and spring exit from 
the liner, temporarily tape the pin 
with the liner.

Position the leaf (Q) on the guide (P) 
and insert the pin in the runner (O), 
removing the ribbon previously used to 
keep in position pin and spring.

Fasten the guide to the floor (P) 
and insert the runner (O).

N
E

E

N

Once you have found the 
correspondence of the holes between 
runner liner (N) and upright (E), 
fasten the liner with the screws TBC 
3.9X9.5.

TCC 3.9X9.5 (x3)

Cross tip, medium

Q

P

P

O

O



10

Adjustment of the leaf weight compensation.

Lift !!

NO!!

NO!!

OK!

Lower !!

To lift the leaf, unscrew the dowels of the Allen wrenches  
C6-A and C6-B and screw the dowel of the Allen wrench C6-C

C6-A C6-CC6-B

To lock leaf position, fully tighten the dowels of the Allen 
wrenches C6-A and C6-B

To lower the leaf, unscrew the dowel of the Allen wrench 
C6-C and screw the dowels of the Allen wrenches C6-A 
and C6-B.



11

Adjustment of the mobile leaf spring latch.

To adjust the strength of the mobile leaf 
spring latch, remove the cover (S) and 
withdraw the ball block (M) from the 
aluminium profile (I), screw the dowel GEIPP 
M14X14 to increase the spring latch strength 
or unscrew to decrease it. Reinsert the ball 
block (M) in the profile and try to force open 
the door. Repeat the operation until the 
desired strength is reached and reposition the 
rubber cover on the profile.

S

I

M



12

Position the partly fixed leaf spring latch (AA) 
on the wall frame (AC) with the part with the 
ball in correspondence with the end section 
of the partly fixed leaf. Now fasten the spring 
latch striker (AB) on the end section of the 
partly fixed leaf (AD) and, closing it, check 
for interferences and verify that the ball is 
positioned in the striker slot.

Installation of the partly fixed leaf spring latch.

AA

AA

AA
AA

AB

AB

AB

AD

AD

AC

AC



13

33

51
83.5

60 69

9

H

DH

170

49.5

14.5

5

49.5

PANIC EXIT SIDE VIEW WITH EVOLUS OPERATOR
All dimensions are in millimetres.
The leaf profiles in this document are just illustrative.
To use other types of profile, keep into account the minimum and maximum dimensions and 
positions.

IN
N

ER
 S

ID
E



14

MOTOR STOP PHOTOCELL HOUSING
Motor stop photocell housing kit is used with breakout systems equipped with mobile leaf only and external 
automatism. Basically, it consists of two properly-drilled profiles (see figure), fastened outside the Evolus 
operator side panels and where the photocells will be located; transmitter will be housed on one side and 
receiver on the other. We recommend to install the receiver on the side that is best protected against sun rays.

34
58

82

X

35

24

48

Drill two holes on the operator side panel to fasten the 
profile at the suitable height “X”, so that the photocells 
are aligned without detecting the leaf moving, but in 
such a way that, during breakout, the photocell beam 
interruption by the leaf top profile is guaranteed.

Hole position shall correspond to the 
leaf horizontal top profile, so that leaf 
breakout interrupts photocells beam.

hole Ø4
for profile fastening on automation 
side panel

hole Ø7
for photocell cable outlet

hole Ø4
for profile fastening on automation 
side panel

hole Ø11.5
for photocell capsule insertion

Photocell insertion into profile View of profile with photocell as 
seen from side panel inner part

View of closed profile as seen 
from side panel outer part



15

MOBILE LEAF 
GLASS SHIMMING

NB: GLASS SHALL NOT OVERWEIGHT THE LEAF

glass shims

guide on the floor

ball block for mobile leaf

pivot hinge

glass



16

LABEL S.p.A.
Via U. Ilariuzzi, 17/A - S.Pancrazio P.se - 43126 - Parma
Tel. (+39) 0521/6752 - Fax (+39) 0521/675222
infocom@labelspa.it
www.labelspa.com


